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VZOROVÝ ARCH S BODOVÁNÍM

VZOROVÝ ARCH S BODOVÁNÍM 

ZE ZKOUŠKY 13.4.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

řeč

srovnání

1 b.

1 b.

je, vaše max. 2 b. 
min. 0 b.

Úloha 9: 
• slovo správně   => + 1 b. 
• slovo špatně     => – 1 b.

zvyklému

prožitého

1 b.

1 b.

1 b.

1 b.

1 b.

Úloha 15: 
• vše 

správně 
=> 3 b. 

• jinak              
=> 0 b.

Úloha 13: 
• 4 správně   => 2 b. 
• 3 správně   => 1 b. 
• 2 a méně    => 0 b.

Úloha 8: 
• 4 správně   => 2 b. 
• 3 správně   => 1 b. 
• 2 a méně    => 0 b.
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VZOROVÝ ARCH S BODOVÁNÍM 

ZE ZKOUŠKY 13.4.
závan – byl osvěžující

lidé – mohli by žít

1 b.

1 b.

1 b.

Úloha 19: 
• 4 správně   => 2 b. 
• 3 správně   => 1 b. 
• 2 a méně    => 0 b.

Úloha 25: 
• 4 správně   => 2 b. 
• 3 správně   => 1 b. 
• 2 a méně    => 0 b.

nejvýznamnějším 
spjatý 
tradičně 
knihomoly

max. 4 b. 
min. 0 b.

Úloha 18: 
• slovo správně   => + 1 b. 
• slovo špatně     => – 1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

max. 3 b. 
min. 0 b.

Úloha 26: 
• slovo správně   => + 1 b. 
• slovo špatně     => – 1 b.

dějinách 
úklidu 
trhu 
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